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£ numpy 1, IRETERRGEEESEEY, Wintod, str, B, ERYIERIIETGRRERWS
By, KREEERT, BAERNEREENNEACEdE. flal, mir—PA, B uFEERSF, |
OAEEEIIIES, NRE—AFE, ARSRT, 8—PEIESERERNE. H(TLUEXEE
MMTFRETEARRIRD Arrays 91, B3 numpy BRARTLURATIHE, (BANBEXMHEERFRT, XEAEFR
K. BAIFEFIRESRAOEIREN.

EUTFEX np.zeros(4, diype=int) BAZUERE, BATTLAMEREGEHPENEGHEE:

In [3]: data = np.zeros(4, dtype={'names":('name’, 'age’, 'weight'),
'‘formats":('U10', 'i4’, 'f8)})
In [4]: data
Out[4]:
array([(", 0, 0., (", 0, 0., (", 0, 0., (",0, 0],
dtype=[('name’, '<U10"), (‘'age’, '<i4"), ('weight’, '<f8")])

BixE, BHESAIIE X FHIEEH

In [5]: name = ['Alice’, 'Bob’, 'Cathy’, 'Doug']
... age = [25, 45, 37, 19]
... weight = [55.0, 85.5, 68.0, 61.5]

In [6]: data['name'] = name
... data['age'] = age
... data['weight'] = weight

VERLEER, HATATLINERE data RFHE 7 EMIAIEHE

In [7]: data

Out[71]:

array([(‘Alice’, 25, 55.), ('Bob’, 45, 85.5), (‘'Cathy’, 37, 68.),
('Doug’, 19, 61.5)],
dtype=[('name’, '<U10"), (‘'age’, '<i4"), ('weight’, '<f8")])
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XAE 7 BA IS EERRIE

In [8]: data['name’]

Out[8]:

array(['Alice’, 'Bob’, 'Cathy’, 'Doug’],
dtype="<U10")

In [9]: data[0]
Out[9]: (‘Alice’, 25, 55.)

In [10]: data[-1]['name’]
Out[10]: 'Doug'

SIS IERE
{ERFR

In [11] np.dtype({'names’:('name’, 'age’, 'weight’),

'formats' (U1O 'i4', 'f8")})
Out[11] dtype([('name’, <U10) (‘'age’, '<i4"), (‘'weight', '<f8")])
&, ATEM, R numpy BUiSESEEL

np.dtype({'names”:('name’, ‘age’, ‘'weight’),
‘formats":((np.str_, 10), int, np.float32)})

{ERcE

In [12]: np.dtype([('name’, 'S10"), (‘age’, 'i4"), ('weight’, 'f8')])
Out[12]: dtype([('name’, 'S10"), (‘age’, '<i4"), ('weight’, '<f8")])

IS BIRAEERNE, EREREEEN

In [13]: np.dtype('S10,i4,{8")
Out[13]: dtype([('f0', 'S10"), ('f1', '<id"), ('f2', '<f8")])
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In [14]: tp = np.dtype([('id’, 'i8"), (‘'mat’, 'f8', (3, 3))])

In [15]: np.zeros(1, dtype=tp)

Out[15]:

array([0, [0, O, 0],[0., O, O0J,[0. O, OIDL
dtype=[(id’, '<i8"), (‘'mat’, '<f8', (3, 3))])

iCRIEME
[EE BIRVEHRSYata, ANREIRENETER0c, FeliIREE

In [16]: data['age']
Out[16]: array([25, 45, 37, 19], dtype=int32)

ItEAh, FeliTRTLAGERSE KEEME, XA LML — bR

In [17]: data_rec = data.view(np.recarray)
... data_rec.age
Out[17]: array([25, 45, 37, 19], dtype=int32)

L5, BATRISIRIG R MIRIERIR T

In [18]: %timeit data['age']

... %otimeit data _rec['age']

... %timeit data_rec.age
138 ns £ 1.25 ns per loop (mean = std. dev. of 7 runs, 10000000 loops each)
2.92 ps £ 35.7 ns per loop (mean + std. dev. of 7 runs, 100000 loops each)
3.72 us + 18 ns per loop (mean = std. dev. of 7 runs, 100000 loops each)
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